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Question Number : 1 Question Id : 2062051343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

SMTP stands for:

Options:

, % single mail transfer protocol.

-  simple mail transfer protocol.

5 % Small mail transmission protocol.

4 % short mail transmission protocol.

Question Number : 1 Question Id : 2062051343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 2062051344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In PowerPoint presentation, where does the footer area appears in Handout master view?

Options:
, » Top ofthe page

-  Bottom of the page

5 » Center of the page

4 = Leftofthe page

Question Number : 2 Question Id : 2062051344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



STETCaTEUE AU H, TUSHIZET AT o H T UINAT gl T3 @Il 67
Options:

> v U e EET H
s w YHFFEH

Question Number : 3 Question Id : 2062051345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The default horizontal alignment for numeric data in Microsoft Excel is:

Options:
1 %= Left

o o Right

= % Centre

4 % Justify

Question Number : 3 Question Id : 2062051345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 4 Question Id : 2062051346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
ROM stands for:
Options:



, = read once memory.
-  read only memory.
- % lead on memory.

4 % read other memory.

Question Number : 4 Question Id : 2062051346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 2062051347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Of the following options, the best quality graphics reproduction is done by a:

Options:

, % drum printer.

- % inkjet printer.
5  Dlotter.

4 % dot matrix printer.

Question Number : 5 Question Id : 2062051347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 2062051348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Operations such as addition, subtraction, division, multiplication and logic operations are performed by:

Options:
, w registers

> # the control unit
5  the ATU

4 # the RAM

Question Number : 6 Question Id : 2062051348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 2062051349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following options is generally NOT permitted while renaming a field name in data source?

Options:
1 % Letters

> % Numbers



= % Underscore characters

4 « Spaces

Question Number : 7 Question Id : 2062051349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 2062051350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a text function in MS-Excel?

Options:

, » CHAR()

> B LEN( )
. » LEFT()

4 v ABSO)

Question Number : 8 Question Id : 2062051350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % CHAR()
.« LEN()

. « LEFT()



. ABS()

Question Number : 9 Question Id : 2062051351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following uniquely identifies each computer on the network and is hardeoded oo network interface card?
Options:

1 % IP address

> « MAC address
z % ICMP

4 % LAN

Question Number : 9 Question Id : 2062051351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, » IP 03®
. » MAC %@

- % ICMP

Question Number : 10 Question Id : 2062051352 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A protocol and constituent of the URL, which is used to access the resource on the Internet is:

Options:
1 « HTTP or HTTPS
o R WWW

s % TCP

EE IP



Question Number : 10 Question Id : 2062051352 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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, v HTTP & HTTPS
> % WWW
5 & TCP

Question Number : 11 Question Id : 2062051353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following crawls webpagses starting from a given URL and recursively following the links embedded
within nt?
Options:
|« Spider

5 % Spyware
z % Adware

4 % Browser

Question Number : 11 Question Id : 2062051353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 2062051354 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Which of the following i1s NOT an objective of multiprogramming operating system?

Options:
1 % Reduce CPU idle time

> % Maximize processor utilisation

-  Minimize user input time

4 % Avoid deadlock

Question Number : 12 Question Id : 2062051354 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 2062051355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which type of computer generally supports single user at any given time?
Options:

; « Personal computer

- % Super computer

5 % Mini computer

4 % Mainframe computer

Question Number : 13 Question Id : 2062051355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 2062051356 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT a valid category of charts in Microsoft Excel?

Options:
1 # Bar chart

- #% Pie chart

5  Temperature chart

4 % Line chart

Question Number : 14 Question Id : 2062051356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 2062051357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following can be both hardware and software?
Options:

1 ® Router



> « Firewall
= # Switch

4 % Modem

Question Number : 15 Question Id : 2062051357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 16 Question Id : 2062051358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the term used for pressing and holding down the left key of the mouse and move it around the slide?

Options:
, w Highlighting

W Dragging

s

5 % Wwarming

4 % Pointing

Question Number : 16 Question Id : 2062051358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

HI3H FT &5 F=i &1 ZGaT T AR FA158 & HATHITH 7 0 & (ol GIIET a1 A1 STl oreg #3472

Options:

lwgé‘a—lgﬁj-r
z.fér




S_QEﬁF

| SR

Question Number : 17 Question Id : 2062051359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A digital camera is which of the following types of device?
Options:

1 Input

5 % Output
3 # Software

4 » Pointing

Question Number : 17 Question Id : 2062051359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 2062051360 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If multiple windows are open on your computer, then the keyboard shortcut to minimize all of them together is:

Options:
1 ® Ctrl + M
> % Shiff +M

5 « Windows — M



4 ® Shii +Cul+M

Question Number : 18 Question Id : 2062051360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
L% Cirl + M
- % Shift + M

= « Windows + M

. % Shift + Ctrl + M

Question Number : 19 Question Id : 2062051361 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is a program that searches through a database of web pages for particular information.

Options:
1 #% Web browser
-  Search engine

= % Web crawler

4 % Web server

Question Number : 19 Question Id : 2062051361 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 20 Question Id : 2062051362 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The multiplication arithmetic operator is represented by which of the following symbols?

Options:
1 ® A

Question Number : 20 Question Id : 2062051362 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 ® A

Question Number : 21 Question Id : 2062051363 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Every computer on the Internet has a unique numeric address, which is called

Options:
1 « IP address

> % IM address
= % IS address

4 % TCP address

Question Number : 21 Question Id : 2062051363 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 2062051364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which of the following topologies are multiple computers or peripheral devices linked to a central unit?

Options:
| Star topology

» % Bus topology

- % Ring topology

4 % Mesh topology

Question Number : 22 Question Id : 2062051364 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 2062051365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

is the most common type of audio-output device.
Options:
|« Speaker



> % Monitor
= % Printers

4 # Keyboard

Question Number : 23 Question Id : 2062051365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 2062051366 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following identifies non-essential files on the hard disk and erases them. but only when the vser allows?

Options:
, » Backup

» % File compression

- % Uninstall program

4 « Disk cleanup

Question Number : 24 Question Id : 2062051366 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 25 Question Id : 2062051367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A list of words along with their synonyms and antonyms is known as:

Options:
1 % Indentation.

-~ % mmorphing.
5 % Storage.

4 « thesaurus.

Question Number : 25 Question Id : 2062051367 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 26 Question Id : 2062051368 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following number systems does a computer use to store data and perform calculations?

Options:

,  Binary

> # Octal

= % Decimal



4 % Hexadecimal

Question Number : 26 Question Id : 2062051368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 27 Question Id : 2062051369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a primary key of one file that also appears in another file?

Options:
, % Primary key

o o Foreignkey

5 » Logical key

4 = Physical key

Question Number : 27 Question Id : 2062051369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 2062051370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The key is used to create new paragraph in Microsoft Word.

Options:
1 % Function

- « Enter
z #® AITOW

4 % Space bar

Question Number : 28 Question Id : 2062051370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 2062051371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In a computer, & is @ self-replicating vims that does not alter files but resides in active memory and duplicates
its=lf.

Options:

, % trap doors

-~ % trojan horse

3 # lansomwarc

4 & worm



Question Number : 29 Question Id : 2062051371 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 30 Question Id : 2062051372 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The computer language used for web-based programming is:

Options:
1 % BASIC
> % COBOL

= o Java

4 % Pascal

Question Number : 30 Question Id : 2062051372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 31 Question Id : 2062051373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following can be formed by inter-connecting personal computers?

Options:
1 ® Server

- % Super computer

5 # ENnterprise

4 « Network

Question Number : 31 Question Id : 2062051373 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 32 Question Id : 2062051374 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What type of software is Microsoft Office?

Options:
1 « Closed source software

» w Open source software
5 ® Database management System

4 = Utility software

Question Number : 32 Question Id : 2062051374 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 2062051375 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following programs works like a calculator for keeping track of money and making budgets?

Options:
1 # Calculator

> of Spreadsheet
- w Budgeter

4 % Financier

Question Number : 33 Question Id : 2062051375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 2062051376 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A long thing sirip located on the far right or bottoin of a window that allows vou to move the window viewing area up,
down, left, or right is called:
Options:
1 « Scroll bar



- % Task bar
= % Menu

4 % Icon

Question Number : 34 Question Id : 2062051376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

e wEET H g S U et & e ardt A O Frer Ty g & S o e swger oftan r e S
7T 27 AT A A B ARt A EEEICU 2

Options:

| v EREAAR

> % ClFh SR

Question Number : 35 Question Id : 2062051377 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In Microsoft Excel. the intersection of a row and column is called:

Options:
| % Square

> of Cell
=z # Cubicle

4 ® Worksheet

Question Number : 35 Question Id : 2062051377 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 36 Question Id : 2062051378 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the mouse action used to access the properties of a file?
Options:

, w Dragging

Lo

o % Dropping

5  Right-clicking

4 = Shift-clicking

Question Number : 36 Question Id : 2062051378 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Question Number : 37 Question Id : 2062051379 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The key combination used to select an entire Word document is:

Options:
1 B Alt+F5
> % Shiff+A

2 ® Ciul + K



4 Cirl + A

Question Number : 37 Question Id : 2062051379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

% Alt + F5

, = Shift + A
2% Ctl + K

L v Ctrl + A

Question Number : 38 Question Id : 2062051380 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT a video {file extension?

Options:
1 % MP4
> % AVI

T B QT

4 « JPG

Question Number : 38 Question Id : 2062051380 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

=T 7 8 Far S0 B veHeT Ae £ 7
Options:

1 & MP4

5 % AV

o ® QT

4 « JPG

Question Number : 39 Question Id : 2062051381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Which program reduces the size of the files so that it occupies lesser space on the disk?

Options:
, % Word processor

> % Spreadsheet
3 ® Antivirus

4 WinZip

Question Number : 39 Question Id : 2062051381 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 40 Question Id : 2062051382 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The method of intermet aceess that requires a phone line, but offers faster access speeds than dial-up is called the
CONIECTION.

Options:

1 ® Cable access

> # Satellite access
- » Fiber-optic service

4 digital subscriber line (DSL)

Question Number : 40 Question Id : 2062051382 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1 ® mm
L » HEoTSE TEEH

. » TISaL-HIceH Alad

. v ETSicd FerhgaR Ag-(DSL)

Question Number : 41 Question Id : 2062051383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the menu item that is generally selected to access the print command?

Options:
1 « File

> % Tools

- # Special

4 R Edit

Question Number : 41 Question Id : 2062051383 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 42 Question Id : 2062051384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is a repair method for known sofiware bug, which is generally available free of cost on the
iternet?
Options:



1 # Version

&,

> « Patch
- % Tutorial

FAQ

Question Number : 42 Question Id : 2062051384 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
o § @ F07 v 919 T%eaaT 791 & o AtFAg T2fa (ROaT #ws) &, S sve@e ™W
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Options:
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Question Number : 43 Question Id : 2062051385 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

A device which connects dissimilar networks is called:
Options:

, w bridge.
- % switch.

5 % lrepeater.

PR gateway.

Question Number : 43 Question Id : 2062051385 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 44 Question Id : 2062051386 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which device is used to receive incoming packets, analyse them and move them to another location?
Options:

1 « Router

> % Hub
=z % Modem

4 % Repeater

Question Number : 44 Question Id : 2062051386 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 45 Question Id : 2062051387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

An administrator can increase the level of security on files & folders by using:
Options:

; w distributed file system.

- u secure file system.



5 » encrypted data system.

4  encrypted file system.

Question Number : 45 Question Id : 2062051387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 46 Question Id : 2062051388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The svstem request (SysRq) keys in IBM keyboards were used to initiate a:
Options:

, % Mhigh-level event.

> o low-level event.
5 % low-point event.

4 % high-point event.

Question Number : 46 Question Id : 2062051388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 47 Question Id : 2062051389 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What i5 the key combination vsed to copy a formula from the cell above the active cell into another cell or the formmula
bar in Microsoft Excel?

Options:

1 # CTRL+8
-~ o CTRL +°
=9 CIRLFT
4 % CTRL+~

Question Number : 47 Question Id : 2062051389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
THTH TS W UideT W9 F FUC A0 Ao W R WW A A7 WA 3 9 U WAST 0 A E
ot Freaferiao & ® 58 @t Fteret o gt fShar ST g

Options:

, %= CTRL + 8
> v CTRL +°
- % CTRL +”

4% CTRL + ~

Question Number : 48 Question Id : 2062051390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which key is used to open the Format Cells dialog box in Microsoft Excel 20107

Options:
1 ® Alt+F4
> # Cirl+F

z ® Fl



4 & Ctil + Shift + F

Question Number : 48 Question Id : 2062051390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % Alt + F4
> % Ctrl + F

. v Ctrl + Shift + F

Question Number : 49 Question Id : 2062051391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is meant by data marker?

Options:
|tk graphic representation of the value of a data point.

~ % A particular value in a table or worksheet.

= % An Excel formula.

, » Collection of attributes applied to text.

Question Number : 49 Question Id : 2062051391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 50 Question Id : 2062051392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The system provides and maintains the mapping between a file's logical storage need and the phvsical location
where it 15 stored.
Options:

, « file management
» % data management
5 w Software management

4 % utility management

Question Number : 50 Question Id : 2062051392 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 51 Question Id : 2062051393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which key is used to activate the extended selection mode on a kevboard?

Options:
1 ® F4
A F7

z ® F3

4 « F8

Question Number : 51 Question Id : 2062051393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:

4 ¢ F8

Question Number : 52 Question Id : 2062051394 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The default chart type in Microsoft Excel is

Options:
, % Diechart

> % line chart
= % surface chart

4 « column chart

Question Number : 52 Question Id : 2062051394 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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READING COMPREHEMNSION

Section Id : 206205208
Section Number : 2



Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 206205208
Question Shuffling Allowed : Yes

Question Id : 2062051395 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension



Read the passage given below and answer the questions that follow
by marking the most appropriate option out of the four given after
each question.

There have been various theories floated on man’s evolution, but now a
detailed study had helped classify and document the progression in to
three eras-mythological. illogical and technological.

The mythological era was an era when nothing defied belief, not even
gravity. Man could fly. levitate. change his form at will and take on a new
identity. He could make himself invisible. He could enter any place and
slip away unnoticed. He had the powers to see things that occurred
thousands of miles away. He could beam himself across the seven seas
or interact with anyone from halfway across the world. He had devised

magical mantras that could open locked doors. Only he could utter them

— if someone else tried. it would not have the same effect. From cities

beneath the sea to herbs growing on a faraway mountain. he could locate

anything in a second.

The illogical era was an era when nothing defied gravity. not even belief.

Man picked up his remote and sank into his couch. only to vegetate
happily ever after. The past was a myth: everything about it was illogical.
If he was really meant to fly, he would have sprouted wings. Sure, planes
had been invented by then. but the joy of opening the window to throw
out peanut shells or stepping out every hour to stretch one’s legs just was
not there. If he was meant to go invisible at will. he would not have been
given a beer belly that had nowhere to hide.

The technological era is the current era, where nothing defies belief.
Social networking allowed man to change his form at will and take on a
new identity. He could make himself invisible during chat session.
Hacking enabled him to enter any place and slip away unnoticed.
Webcasts and podcasts gave him the powers to see things that take
place thousands of miles away. Skype allowed him to interact with
anyone from halfway across the world. Google allowed him to search
and locate anything in a jiffy. from cities beneath the sea to herbs

growing on faraway mounfains.



Sub questions

Question Number : 53 Question Id : 2062051396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT true of the mythological era?

Options:
, % Man could locate anything he wanted.

Man could fly, levitate, change his form at will and

» % take on anew identity.
-  He could not think of making himself invisible.

, » He could open the locked doors.

Question Number : 54 Question Id : 2062051397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“This was an era when nothing defied gravity, not even belief” means man:

Options:
.+ Was scientifically advanced and knew his limitations space and time.

-~ % Was not scientifically advanced and did not know his limitations space and time.

- u believed in super natural powers.

, » believed in miracles, but could not practice.

Question Number : 55 Question Id : 2062051398 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT correctly matched?

Options:
, % Mythical era — Man could find anything in no time.
-  lllogical era — Man can go invisible.

- % Jlechnological era - Man can go invisible on chat.

4 % Technological era —Man can create a new identity.



Question Number : 56 Question Id : 2062051399 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following two characteristics are common to the Mythological and Technological eras?

Options:
Man can go invisible and locate anything within no

1.« time.

Man cannot go invisible and locate anything within

> #% no fime.

Man can go invisible and cannot locate anything

= % within no time.

4 % Man can open the locked doors and can fly.

Question Number : 57 Question Id : 2062051400 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Man could NOT go invisible during the illogical era because
Options:

1 +« he became more scientific.

- u he believed the past was stupid.

- % he believed in physical work.

4, % hebecame physically immobile and lazy.

Question Id : 2062051395 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 2062051396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 54 Question Id : 2062051397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 55 Question Id : 2062051398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 56 Question Id : 2062051399 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
famafafaa # @ Fia & ar Revar daftes o7 3k sigafdT g 7 gq= 22
Options:
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Question Number : 57 Question Id : 2062051400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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OUANTITATIVE AFPTITULDE
Section Id : 206205209
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6

Section Marks: 6



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 206205209
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 2062051401 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Select the most appropriate option to identify the missing number, represented by ?, in the series.
45 46 70 141 ? 1061.5

Options:

1 % 353

Lad
L

2.9?35

L
®
[ F ¥
A
[
Ln

i,
i
[F¥]
]
Ln

Question Number : 58 Question Id : 2062051401 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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45 46 70 141 7 10615
Options:

| % 353
. » 3535
. » 3525

. ® 325

Question Number : 59 Question Id : 2062051402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following number series one of the values have been included wrongly. Find out the wrong number.

850 843 829 B08 788 745 703
Options:
, % 843



> % 829
3 % 808

i 788

Question Number : 59 Question Id : 2062051402 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Frafafis Fe0 4ueT &, TF A5 TS @ ¥ oNAT # & W &) 3F T e 99 7

850 843 829 808 788 745 703
Options:

, % 843
, % 829
- = 808

L v 788

Question Number : 60 Question Id : 2062051403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Solve the equation to find out the missing value that should replace the question mark (?)

14% of 80 - 7% 0f 90 =31.9
Options:
1 ® 16

2. o 23

= % 18

Question Number : 60 Question Id : 2062051403 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
g = (?) & T W F°d A H AT #A F o0 FHSIOT g F
80 &1 14% + S0 =1 ?% = 31.9

Options:




2 o 23

Question Number : 61 Question Id : 2062051404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Solve the equation. (You are not expected to calculate the exact value).

[(7.99)% — (13.001)% + (4.01)3]2 =2

Options:
1 % —1800

> % 1450
3 % —1680

4 « 1680

Question Number : 61 Question Id : 2062051404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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[(7.99)2 - (13.001)2 + (4.01)%)2 =2
Options:

% -1800
. = 1450
- % -1680

.« 1680

Question Number : 62 Question Id : 2062051405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The ratio of copper and tin in & 84 kg allov is 4 ; 3. Some amount of copper is extracted from the alloy and the ratio of
copper and tin in the resulting allov becomes 10 ; 9. How much copper was extracted?

Options:

; % 4kg
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Question Number : 62 Question Id : 2062051405 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

84 Freimw & vw Ty aig F &i9w ol BT & wgea 4 3 ¥ T @ s & o A T
ﬁmﬁ%#nﬁwwﬁﬂm:ﬁmsﬂ?ﬁammm QETEI?ET%I forarar T wraT 6
AT ST 2

Options:

; » 4 freema
- # 5 ramEma
5 % 6 fohattarmd

4 v 8 SemEng

Question Number : 63 Question Id : 2062051406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A B and C started a business by lovesting § 12,600, T 19,800 and T 23 400 respectively. All of them invested for equal
period of time. If A’ share of the anmual profit is § 2:240, What is C's share in the annual profir?

Options:
, o %4160

> w 34,420

5 % 3,900

4 % T4,680

Question Number : 63 Question Id : 2062051406 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:




. v T 4,160

, % < 4,420
. % < 3,900
, % T 4,680
GEMEREAL MEMTAL ABILITY AND REEASONING
Section Id : 206205210
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 206205210
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 2062051407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Author is related to Book in the same way as Choreographer is related to:

Options:
1 % Drama

> « Ballet
Masque

o %

4 % Opera

Question Number : 64 Question Id : 2062051407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 65 Question Id : 2062051408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Flower is related to Petal in the same way as Book is related to:

Options:

| « Page

-~ % Content
z % Author

4 » Library

Question Number : 65 Question Id : 2062051408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 66 Question Id : 2062051409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that best describes the three following terms.

Barauni : Digboi : Ankleshwar
Options:

1 They are famous for oil fields.



> % [Ihey are famous religious places.

- u They are tourist places of South India.

4 % They are famous for handlooms.

Question Number : 66 Question Id : 2062051409 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 67 Question Id : 2062051410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that best describes the three following terms.

James Bond : Sherlock Holmes : Hercules Poirot

Options:
; = They are private detectives.

> % They are agents of the CBL

3 o They are characters from detective fiction.

4 % They are the only detective agents.

Question Number : 67 Question Id : 2062051410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 68 Question Id : 2062051411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Select the option that best describes the three following terms.
6:18::4:7

Options:

1 ® 2

> B 6

T B I8

4.¢?16

Question Number : 68 Question Id : 2062051411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 69 Question Id : 2062051412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What will be the result if all the number in the dial of a telephone are multiplied?

Options:
1 ® 158480
5 % 159450

= % 159480

4  None of the given options.

Question Number : 69 Question Id : 2062051412 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
. % 158480
. % 159450

. = 159480
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Question Number : 70 Question Id : 2062051413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



JDBC stands for:
Options:
. w Java Developer Connectivity.

- « Java Database Connectivity.
- » Java Developing Connectivity.

4 % Java Database Conductivity.

Question Number : 70 Question Id : 2062051413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 71 Question Id : 2062051414 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who was the first posthumous recipient of Bharat Ratna?

Options:
1 « Lal Bahadur Shastri

> % M. G. Ramachandran
= % B.R. Ambedkar

4 » K. Kamraj

Question Number : 71 Question Id : 2062051414 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 72 Question Id : 2062051415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Planning Commission was set up by a Resolution of the Government of India in:

Options:
1 & March, 1950

5 % November, 1951
- % March, 1945

4 % December, 1946

Question Number : 72 Question Id : 2062051415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. » AT, 1950

o w AGF, 1951
. % A, 1945

, » TGHFSY, 1946

Question Number : 73 Question Id : 2062051416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who among the following was the first to land on the moon?
Options:

, « Neil Armstrong



5 #® Tensing Norgay

= % Rakesh Sharma

4 % Edwin Aldrin

Question Number : 73 Question Id : 2062051416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 74 Question Id : 2062051417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which among the following is the coral group of islands of India?

Options:
1 % Andaman

- « Lakshadweep

- » Minicoy

4 % Nicobar

Question Number : 74 Question Id : 2062051417 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 75 Question Id : 2062051418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Banks in Indix are categorised as public sector and private sector banks. Which of the following types of banks are
called public sector banks?

Options:

, « Those in which Government of India has a controlling stake.

2. %

Those which provide services to the poor, like those living below poverty line, and those living in remote areas.
I K
Those who are governed and regulated by the Reserve Bank of India only. The Finance Ministry does not have any
eontrol over them.

4 % Only those banks whose shares are not traded in stock markets.

Question Number : 75 Question Id : 2062051418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 76 Question Id : 2062051419 Question Type: TYPING TEST Display Question Number : Yes
Wornens History Mornth 15 an annual declared month that is traditionally held in March, bat the study of
wWOITEnNs history 15 valuable all twelve months of the vear. Wornen have overcome daunting odds to succead
and excel in all areas of haman endeavor, including science, manufacturing, athletics, business, and
exploration.
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Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 206205213
Question Shuffling Allowed : No

Question Number : 77 Question Id : 2062051420 Question Type: TYPING TEST Display Question Number : Yes

The Indus River Valley Civilization, also knowrn as the Harappan Civilization, extended from modern-day
northeast Afghanistan to Fakistan and northwest India. Important innovations of this civilization include
standardized weights and measures, seal carving, and metallurgy with copper, bronze, lead, and tin. Little is
understood about the Indus script, and hence, little is knowr about the Indus River Valley Civilizations
institutions and systemns of governance. In 1856, Eritish colonial officials in India were busy monitoring the
construction of a railway connecting the cities of Lahore and Karachi in modern-day Pakistan along the Indus
River walley. A5 they continued to work, some of the labourers discovered many fire-balked bricks lodged in
the dry terrain. There were hundreds of thousands of fairly uniform bricks, which seemed to be guite old.
Nonetheless, the workers used some of them to construct the road bed, unaware that they were using ancient
artifacts. They soon found among the bricks stone artifacts made of soapstone, featuring intricate artistic
markings. Though they did not know it ther, and though the first major excavations did not take place until
the 159205, these railway workers had happened upon the remnants of the Indus Valley Civilization, also
knowr as the Harappan Civilization, after Harappa, the first of its sites to be excavated, in what was then the
Punjab province of British India and is now in Pakistan. Initially, many archaeologists thought they had found
ruins of the ancient Maurya Empire, a large empire which dorminated ancient India between 222 and 185 BCE.
Eefore the excavation of these Harappan cities, scholars thought that Indian civilization had begun in the
Ganges valley as Aryan immigrants from Persia and central Asia populated the region around 1250 ECE. The
discovery of ancient Harappan cities unsettled that conception and mowved the timeline back another 1500
years, situating the Indus Valley Civilization in an entirely different environmental context. Scholars are still
piecing together information about this mysterious civilization, but they have learned a great deal about it
since its rediscovery. [tS origins seerm to lie in a settlement named Mehrgarh in the foothills of a mountain pass
in modern-day Balochistan in western Fakistan. The Indus Valley Civilization is often separated into three
phases: the Early Harappan Phase from, the Mature Harappan Fhase, and the Late Harappan Phase from
1900 to 1300 BCE. At its peak, the Indus Valley Civilization may have had a population of over five million
people. The Indus cities are noted for their urban planning, a technical and political process concerned with
the use of land and design of the urban envircnment. They are also noted for their baked brick houses,
elaborate drainage systems, water supply systerns, and clusters of large, non-residential buildings.
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